EAGRAROBREERT — 2 N— ABISH —F

2020828158 (£) 1EERSH

BEY —>c G3 v5%3@ @B % (B AT [l & [mem -~ [z ) oo s
[A&4] 1 7 35,000,000 § ~ 2 3% :14,000,000 @ 3 7 :8,800,000 @ . 4 7 :5,300,000 @ . 5 7 : 3,500,000 {
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N . 4 3 | fBKdE— 1:34.0 2-2 34.3] 9.2 | 2 464 | FEERER ()
111 |3¥=¥s35 540 ) o) | EFERAR-LF T2 )
R:F4—=TA42N7 b B:IRINZH J—HrTy—LA
N % 3 | S. 7#—-U-— 1:34.0 10-13 [ 33.4| 97.0 | 4 430 | EfER (EH)
2o |7V Ix NI AN 54.0 (76) o) | ) HBL—2AK-2
R:F4—=TA>N7 b B:vy—<Tv7 HE77—L
e 4 3 | BFPREKER 1:34.1 4-6 34.1| 956 | 12 a6 | AEE (EH)
3Pl 5| BT T —F2R 54.0 (3/4) © | B
LiAL>TIyoEl BRILEYNZ— K7 7 — L
- 4 3 | MLk 1:34.3 14-14 [ 33.6| 93.6 | 5 48 | REAFMA (EH)
4 6 10 7’7.7/—/1'7'(9" 54.0 (1 1/4) (+10) () BttE
R:T59 U848 B:F—% J =% Ty — I
N e HE :34. - . . MKER (ER)
sl g|>r>FT7I—I 3 | BR 1(’734t§ 77 34.3| %22 6 34) o
SE & = A = B & #EH /—Rex
o HD#(E :34. - . . KPIIETE (E#
612l1o| F9AE—2 T 4t 3 =2 (11314/46) 7-7 34.5|89.8 | 3 (i:g) I
ATz —JI B:YIIILTE—X =Y Ty—LA
= ft 3 | EHE 1:34.7 13-11 | 34.3] 89.0 | 8 494 | EHME (EH)
71813/ F7FT7I777 54.0 (3/4) (-g) |BEET
LUTNALINT N BYRNUTLIT9H KR A
. 4 3 | RLR&A :34.7 9-9 34.5| 88.9 | 11 420 | REEEBRI ()
8/5|8 YFFe .0 (7€) (-12) ka3
LTI XT4 977407~ BiediN—) hid  HEER
A i 3 | ENER 1:34.8 4-4 34.9] 8.8 | 9 468 | RBRLE (i)
9|7 1|7 NVIAEL 54.0 (172) Ca | MR
R:A—XF> V5L B:xvTToH—0 LR MR
S, 4 3 | C. x—Jb 1:34.9 10-9 34.6| 86.7 | 1 458 | BERFIME ()
100N 3 | VT A 54.0 (7€) (g) | ARSI ILY
R:F1—TA4>17 b BESI~™ J—HrTr—LA
I 4 3 | EHEES 1:35.4 4-4 355|778 | 7 450 | BHEB (EH)
1ER4|73-72 54.0 @ Ge) | W XV-TFL-siy
LiFNT =TI BATXT 14— J=HrTp—L
— I 4 3 | IHRSB 1:35.4 10-11 35.0 | 80.3 | 13 | 462 |EHRA (XiH)
12|57 | YY=>TL >3y 54.0 7579 Ly |EHE
L:gprtX BAYYZLRT4T— Bl Xk
= R/\— — i3 | KEHEE 1:35.5 2-2 35.7| 76.3 | 14 | 308 | KIRE (EiH)
EE 2| ATy ENZ 54.0 (1/2) (1) | EEBE
LTSyl Bix)F— FE%E
[T 9 it 3 | AtafE 1:35.8 1-1 38.1| 76.0 | 10 | 468 |4EMK (RR)
14/ 8|14| 1> L—E— 54.0 (1 3/2) (C1p) | EEED
RUTIALINT N B RE—IRY—< > 7395 7T — I
@ 21 L
£y 48.3-36.3
NaO24 L | 12.1-11.0-11.2-11.4-12.0-11.9-12.7-11.7
® I—F—&EBIERL
13-7-
23—7F—
g =5r= 14=(1,2) (4,5,11) (6,12)8(7,3,9)-13-10
Mal=5r= 14=(1,2) (4,11)5(6,12) (8,3) (7,13)9,10
[ N
B 1 380H 794K 1-9 390M & 1-6 640M &R 1-5-9 39,360
# B 1 1609 =5 8,390M B E 1-9 960M EE 1-9-5 119,180H
9 190M 5-9 9,620 B H 1-9 1,700M
5 2,610

ABRICOVTHRTEEERROODE, THEB LS,




